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mInareuduAUANNN I UT v teyansdilinIasi (Intercept term) 1A83S DE-test

1715719 N1 MINATe1 Unit Root : RGDP 1(0)

Include in the test
equation DF-test | Critical Value 1%
*Intercept —l€.6{i__9_5195_:j 8 S -3152__67.__‘;
Trend and intercept : -3.049677 -4.0948
none 1.652697 -2.5963

U1 : INNIATHIN
=Y d' Ut
AuNAgIUN IF lumsnagew
Hy:  6=0 Joyniidnyas laitie
H: 6<0 Jeyaiidnyaeily

1"
=1

A1 DF-test = -1.649495 1NNNNATINGA .01 FewousuaunAgundnveniuideyadl

dnvoy luila Janagouralaerh 1 differencing

M4 N2 MINATDY Unit Root : FOREX I(0)

Include in the test
equation DF-test |Critical Value 1%
" Intercept | 3015991 -3.5267 |
Trend and intercept | -2.926962 -4.0948
none 0.577258 -2.5963

171 : INNIIRIU I
- P 9k
guuAgIun g lumsnaey

o 9=0 Teyalidnvus it

H -

1

.
=

6<0 dayaiidnume

=4

A1 DF-test = -3.015991 ANTIAVINGA .01 Jegeaniuauudgunanseuiuidoyail

anyauz litls Yanaaouna laevi1 1 differencing
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M3 N3 N1INaael Unit Root : IM I(0)

Include in the test equation| DF-test |Critical Value 1%

' e Intercept 8 SR 65943
Trend and intercept -3.38823
none 0.264809 -2.5963

AT - VINMIATLIN
= P 9
auuag LA lslumsnagou

Hy:  6=0 Yayalidnyme il

H .

o 6<0 Yeyalidnyaziie

=

A1 DF-test = -1.65943 1nn11A13nge .01 Teweuiuauudgunanssusuidoyall

dnwaue Tiiia Sanaaeuns laash1 1" differencing

A1 N4 MInaaail Unit Root : INT I(0)

Include in the test
equation DF-test | Critical Value 1%

ntercept 9 -063646 )
Trend and intercept -1.45404
nene -1.762

N7 : IANTAIUIN
= dr S
auudaguhldlumnaasy

6=0 Youaldnyue liie

HO: ap
o oo =
H, : <0 Youauanumzuy

1- @
A1 DF-test = -0.63646 1MANNAINGA 01 TewouSuauNAT UHanYaNS UMYyl

fnwaz lutla Saneaeude laeyh 1 differencing
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1514 A5 M INAaaeL Unit Root : MS I(0)

Include in the test equation | DF-test |Critical Value 1%

' Infercept - . |-2.93083 | "-3.5267 ¢
Trend and intercept -2.884145 -4.0948
none 3.797536 -2.5963

11 : INAIFATUIN
= 4 L X
guuag i lFlumsnaaeou
H,:  8=0 Yoyalidnuaey luils

0

H .

o 6<0 Yoyniitnymsiia
fi1 DF-test = -2.93083 MINNAA1INGA .01 Jeweuiuauudgunansoniuidoyal

anvae liile Tanaaouds Iaesh 1% differencing

M3 N6 MINATOY Unit Root : MLR I(0)

Include in the test equation| DF-test |Critical Value 1%

Trend and intercept -0.939192 -4.0948

none -2.324874 -2.5963

1 - 91AMITAIUIN
= ai Gh
guudgunldlumsnagay

H,:  #=0 foyaiianyas il

H: <0 doyaiidnymeiis

[

A1 DF-test = -0.437374 WINAT1A13ng A 01 WepuSuauuAgwndneusuideyal

ar a2 ' a st - .
anvo Litls Tanadouan lagyi 1 differencing
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Dependent Variable: SET

Method: Least Squares

Date: 06/07/03 Time: 10:48

Sample: 1 70

Included observations: 70

Variable Coefficient | Std. Error | t-Statistic Prob.

BOP 1.52E-05 1.62E-05 0.941608 0.3499

CA 3.77E-05 3.43E-05 1.098707 0.2759

CPI -3.386398 | 0.637064 | -5.315632 0.0000

EX -6.94E-05 3.54E-05 | -1,958816 0.0544

C 387.9484 62.78736 | 6.178766 0.0000
R-squared 0.509167 Mean dependent var 26.82429
Adjusted R-squared 0.478962 $.D. dependent var 8.063033
S.E. of repression 3.820138 Akaike info criterion 6.429274
Sum squared resid 2201.810 Schwarz criterion 6.589881
Log likelihood -220.0246 F-statistic 16.85698
Durbin-Watson stat 0.854932 Prob(F-statistic) 0.000000

AY1: 11IANITAIUIN
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1719 12 HamInageua Ny imiuveseya

White Heteroskedasticity Test:

F-statistic 1.79293]1  Probability 0.095876
Obs*R-squared 13.32619  Probability 0.101108
Test Equation:
Dependent Variable: RESID"2
Method: Least Squares
Date: 06/07/03 Time: 10:51
Sample: 1 70
Included observations: 70
Variable Coefficient | Std. Error | t-Statistic Prob.
C 14627.04 | 26008.35 0.562398 0.5759
BOP -941E-05 | 0.000161 | -0.584620 0.5610
BOP#2 -1.83E-09 | 1.39E-09 | -1.312919 0.1941
CA 0.000321 0.002423 0.132656 0.8949
CAN2 -6.77E-10 : 3.82E-09 | -0.177287 0.8599
CPI -277.8096 | 507.0893 | -0.547852 0.5858
CPI"2 1.277864 | 2.464555 0.518497 0.6060
EX 0.002583 | 0.002848 | 0.906834 0.3681
EX"2 -3.80E-09 | 4.20E-09 | -0.504008 0.3695
R-squared 0.190374 Mean dependent var 31.45443
Adjusted R-squared 0.084154 S.D. dependent var 53.08724
S.E. of regression 50.80330 Akaike info criterion 10.81332
Sum squared resid 157439.5 Schwarz criterion 11.10241
Log likelihood -369.4662 F-statistic 1.792931
Durbin-Watson stat 1.625969 Prob(F -statistic) 0.095876

AN DIANTRIUIN
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m313 13 samanarevlasdfimdesieefigandaivieya

Dependent Variable: SET
Method: Least Squares

Date: 06/07/03 Time: 11:00
Sample: 1 70

Included observations: 70

Weighting series: AAA

Variable Coefficient | Std. Error | t-Statistic Prob.
BOP 1.96E-05 1.83E-06 10.70228 0.0000
CA 3.90E-05 1.69E-0Q6 23.02213 0.0000
CpI -3.343550 | 0.045786 -73.02523 0.0000
EX -7.56E-05 2.34E-06 -32.25885 0.0000
C 385.3451 4.576646 84.19814 0.0000
Weighted Statistics
R-squared 0.999999 Mean dependent var 24.64943
Adjusted R-squared 0.999999 S.D. dependent var 136.4756
S.E. of regression 0.102670 Akaike info criterion -1.645839
Sum squared resid 0.685177 Schwarz criterion -1.485232
Log likelihood 62.60436 F-statistic 30479589
Durbin-Watson stat 1.040435 Prob(F -statistic) 0.000000
Unweighted Statistics
R-squared 0.507795 Mean dependent var 26.82429
Adjusted R-squared 0477505 S.D. dependent var 8.063033
S.E. of regression 5.828267 Sum squared resid 2207.965
Durbin-Watson stat (.846583

fu: 9InAIFA NI
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mM319 ¥4 nageuanylimfuvennunlsalsiu

White Heteroskedasticity Test:

F-statistic 0.222483 Probability 0.985547
Obs*R-squared 1.984559 Probability 0.981482
Test Equation:
Dependent Variable: STD_RESID"2
Method: Least Squares
Date: 06/07/03 Time: 11:02
Sample: 1 70
Included observations: 70
Variable Coefficient | Std. Error | t-Statistic Prob.
C 1.313846 1.604740 0.818729 04161
BOP -1.01E-09 9.93E-09 -0.101208 0.9197
BOP~2 -5.12E-15 8.60E-14 <0.059540 0.9527
CA 9.85E-09 1.49E-07 0.065%01 0.9477
CAN2 -2.22E-14 2.36E-13 -0.094059 0.9254
CPI -0.025291 0.031288 -0.808326 0.4220
CPI*2 0.000124 0.000152 0.813965 0.4188
EX -8.09E-08 1.76E-07 -0.460142 0.6471
EX"2 1.20E-13 2.59E-13 0.463900 0.6444
R-squared 0.028351 Mean dependent var 0.009788
Adjusted R-squared -0.099079 S.D. dependent var 0.002990
S.E. of regression 0.003135 Akaike info criterion -8.573101
Sum squared resid 0.000599 Schwarz criterion -8.284009
Log likelihood 309.0586 F-statistic 0.222483
Durbin-Watsen stat 2.034196 Prob(F-statistic) 0.985547
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Dependent Variable: SETW

Method: Least Squares

Date: 06/07/03 Time: 11:07

Sample(adjusted): 2 70

Included observations: 69 after adjusting endpoints

Convergence achieved after 5 iterations

Variable Coefficient Std. Error t-Statistic Prob.

BOPW 742E-05 | 1.79E-05 4.140194 0.0001

CAW 0.000166 | 7.84E-06 21,21705 0.0600

CPIW 0.478252 | 0.061320 7.799248 0.00600

EXW -0.000217 | 1.71E-05 -12.71015 0.0600

C -1,511419 | 1.427469 -1.058810 0.2937

AR(1) 0.091534 | 0.127321 0.718918 0.4748
R-squared 0.999943 Mean dependent var 244.1026
Adjusted R-squared 0.999938 S.D. dependent var 1342.053
S.E. of regression 10.52956 Akaike info criterion 7.629191
Sum squared resid 6984.914 Schwarz criterion 7.823462
Log likelihood -257.2071 F-statistic 220918.9
Durbin-Watson stat 2.005635 Prob({F-statistic) 0.000000

Inverted AR Roots .09

A1 91AN1TAIUI
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TaeT ADF-test

MIN Al MINATeY Unit Root : SET I(0)

Include in the test
equation ADF-test Critical Value 1%

Intercept 3.378983 -3.5281

none -1.70405 -2.5968

AUT : 2INMTAUIN
a RrRY
aunAg IR g lumInaney

Hy:  6=0 Yoyafidnyne Tl

U

H: 6<0 Yoyalidnyaeil

fi1 ADF-test = -3.36857 1NnATIA1INA A 01 JwenSuduudguvdnseusudoyall

anye liita Jamaaeudslaevh 1 differencing
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A1 A2 MINATOY Unit Root : CAI(0)

Include in the test
equation ADF-test Critical Value 1%
Intercept -3.00439 -3.5281
' _'.Trend and intercept - | .E-.3,3;18.2-7'6- _ . -40969 ,
none -0.028671 -2.5968

AT : VINAIAIUINL
[ - 9
guudgunldlumsnaaoy
Hy:  6=0 Joyaidnuae biils
o = as A
H: <0 19yauanymeu

1 1 e =5 at = ar a
A1 ADF-test = -3.348276 11An1MA1INHOA .01 "NEJE)?JSﬂﬂ'ﬁJilﬂﬂ’luﬁflﬂElElNiU'J"l%@y‘ﬁ

s

ldnung lails Tanaaoude Iaewia 1% differencing

211314 A3 MINAT0Y Unit Root : CPI 1(0)

Inciude in the test
equation ADF-test Critical Value 1%
Intercept -3.10118
' Trendandintercept | 404989 | 409 -
none 0.676957
flan - ;SR

= = 3
duuagiunlslumsnaaoy

Hy:  6=0 doyalidnuaus i

H,:  6<0 Yoyaifnuzila

fi1 ADF-test = -4.04989 1NnNT1A13NGR .01 TwenFumuuAgIUndnsauTuhdeyal

u
o ra =2 r o st . .
anvae 1iile Tanagevse lnewi 1 differencing
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A1 A4 MINATOV Unit Root : EX I(0)

Include in the test
equation ADF-test Criftical Value 1%
Intercept -2.050256 -3.5281
: Trend and intercept .. e —382218 j L ~40969 : : : &
none 0.400325 -2.5968

i mInnIAL

o 0 9
auuAg Ui g lumsnagou

H, Anuee laidle

H,: 6<0 {foualidnyuzile

1 U

g/
6=0 Yoynil

[

Al ADF-test = -3.82218 ¥1nn31ehInge .01 Teweniuauudgiuvdnseusuidoyadl

anuae 1ils Janaaouas Inevin 17 differencing

A5 AS NMINATOY Unit Root : RGDP I(0)

Include in the test
equation ADF-test Critical Value 1%

Intercept -3.00439 -3.5281

. Trend sndintercept || 3348276 | 40969 -

none -0.028617 -2.5968

AN : 1IPNSATU I
= A 9/
avudgunlslumsnaaen

Hy: =0 doyalidnvaz il

a

H: 6<0 10ualanymzil

1 U

fi1 ADF-test = -3.348276 1MnnT1ATINge .01 Seweuiuauudgiunangeuiu hdeya

ar

- ta 4 1 o sl . .
Hanumz 1uie Janaaouas Tagi 1° differencing
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M54 A6 NINATOY Unit Root : FOREX 1(0)

Include in the test
equation ADF-test Critical Value 1%
Intercept -3.396746 -3.5281
' Trend and éiﬁ.tgrcépt_._:i : 34959 s :i'_:_k,itt—:4.ﬁ'0§69'..,. | 'f
none 0.471541 -2.5968

U7 : VINMTAIUIN

aundgunlsluminageu

0 6=0 Joyaiidnune Tt

a“

H

s/ - o -
H: <0 vsyannnyozily

U

[=1

fi1 ADF-test = -3.4959 1NATANINGA .01 JewensuauuAzIuMdnsoniudayal

anve litls SaneaourRelaoyi 1% differencing

13149 A7 M INATeY Unit Root : TM I(0)

Include in the test
equation ADF-test Critical Value 1%
Intercept

-0.92658

-3.5281

| Trendand intercept ~ -

none

0.875296

-2.5968

147 : TINAITAIUIN

aunfig i1 lunmase
Hy:  0=0 Yoyaiidnuas i
H: 0<o feyaiidnuawis

fi1 ADF-test =-1.913843 1ANNA1INDA 01 SewansuunAguvdneeuiuioya

s

tanwae luils Janeaoude laovil 1* differencing
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1514 A8 N1INATDL Unit Root : INT I(0)

Include in the test
equation ADF-test Critical Value 1%

Intercept -0.707633 -3.5281

" Trend'and intercept

none -1.514434 -2.5968

WY : 9INMTRIU I
2 g g
guuagunldlumsnagou
Hy: =0 Joyatianyae liils
3 A o 2
H,: <0 Yayauanyuziy
fi1 ADF-test = -1.737151 snANNIANINGA 01 TeweuiumuuAgundnsouiuhidoya

a

anwauy lifi Jmeasuaslnesii 1° differencing

A3 A9 NMINATDY Unit Root : MS I{0)

Include in the test
equation ADF-test Critical Value 1%

Intercept -2.844119 -3.5281

none 3.27574

NV INATAIU I
a siq 9
duuagIun s luntsnadey
Hy:  6=0 doyaiianuns laidl

H,:  6<0 doyalidnyaile

k')

=

fi1 ADF-test =-2.81421 ¥nnNAVINgA .01 Tewenivauudsumdnseniuidoyad

anyuz e damaaeuds lassii 1% differencing
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1719 A10 MINATSY Unit Root : MLR 1(0)

Include in the test
equation ADF-test Critical Value 1%
Intercept -0.688044 . -3.5281
: - Trenda.ndmtercept '- _ -1608454 R _ -40969 : o
none -1.396651 -2.5968

A1 : 9IPNSAIUIN
= 4:1' Ei
auudguldlumsvaaou

Hy:  0=0 Joyaddnwng hitle

a

H: 6<0 Yoyaiidnuuzi

u

A1 ADF-test =-1.608454 WInnT1eInge .01 Jwensuaundiyumdnseusurdoyn

Ishd

nueiz liils Sanaaovuse Tnevih 1 differencing

A11914 A1l MINATed Unit Root : MLR I(1)

Include in the test
equation ADF-test Critical Value 1%
Intercept -2.965614 -3.5281
| Trondendimiercept | 2942435 | 40969
none -2.859063 -2.5968

A7 : INDITATU I

awuAgunlFlunsneaou

Hy:  #=0 Yeyaiianvas ludla
H: 6<0 Yoysiidnymzily

Y

A1 ADF-test =-2.942435 WnnAinge .01 Taseuivauuigiundneniuidoyn

Uanuog lutls Tanaaeune laewt 1 differencing
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PIINAABUMNIT Cointegration

17149 491 NardU¥iIANUYTI Lag

Test Statistics and Choice Criteria for Selecting the Order of the VAR Model
SR oo o ok s e oo o ok kR ok o s e o S ok o ok o ook ks ok o ok ok ko ok ook ok
Based on 64 observations from 7to 70. Order of VAR =6
List of variables included in the unrestricted VAR:
X1 X2 X3 X4 X5
X6 X7 X8 - X9
kA S sk ok o o o ko ko R R R K R K o ok sk ok ko o e o K
Order LL AIC  SBC LR test Adjusted LR test
6 -31974 -36834 -42080 - mmeeem
5 -3539.8 -3944.8 -4382.0 CHSQ( 81)= 684.7942[.000} 106.9991[.028]
4 -3712.7 -4036.7 -4386.4 CHSQ(162)= 1030.5{.000] 161.0132[.507]
3 -3833.3 -4076.3 -4338.6 CHSQ(243)= 1271.9[.000] 198.7294[.983]
2 -3910.1 -4072.1 -4246.9 CHSQ(324)= 1425.3[.000] 222.7008[1.00]
1 -3997.0 -4078.0 -4165.5 CHSQ(405)= 1599.3[.000] 249.8830[1.00]
0 -4661.5 -4661.5 -4661.5 CHSQ(486)= 2928.2[.000] 457.5384[.819]

e ok ok ok ok ok ok ok ok ok ok ok ok S ok sk sk ke sk ok e ok e s i o ok ko ok ok sk sk e ke sk ok Sk K s e s ok Sk ok st st ok e sk st sie ol sk o 3R oK o ok R o ok ok ok K ok e sk o sk ok kb ok

AJC=Akaike Information Criterion SBC=Schwarz Bayesian Criterion
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M319 92 MIAUIUN Cointegrating Vectors 1A81Y Maximal Eigenvalue

Cointegration with restricted intercepts and no trends in the VAR
Cointegration LR Test Based on Maximal Eigenvalue of the Stochastic Matrix
3 s b e ok e ok S e ok ok ok sk ok ke ok sk o ok sk ok 8 S ok ok ok ok ok ok sk ok ok o st o sk e ok ok ok o ok sk o s o ok ok ke ode ok o ok e ol ok S Sk ok ok ok s sk ook ok ok g o ok sk ok
64 observations from 7 to 70. Order of VAR = 6.
List of variables included in the cointegrating vector:
X1 X2 X3 X4 X5
X6 X7 X8 X9 [ntercept
List of eigenvalues in descending order:
98518 97922 96603 81619 67878 .55600 .53401
26241 13138

3 3k 3 ok ok sk ke e ke ok sk sk ok ok ke sk sk sk ok ok ok ok o o ok ok ok ok ok ok 3k ok sk o sk ok ok ke ke sk ok ok ok ok ok ok o sk sk sk ok ok Sk sk ok 3k Sk ok ok ok ok ok o ok sk ok ok 3k K 3K 3 oK ok ok

Null  Alternative Statistic  95% Critical Value  90% Critical Value

r=0 r=1 269.5580 57.9700 54.9160

r<=1r=2 2479137 52.0600 49.0400
r<=2 r=3 2164603 46.4700 43.4400
r<=3 r=4 108.4079 40.5300 37.6500
r<=4 r=5 72.6810 34.4000 31.7300

<=5 r=6 51.9633 28.2700 25.8000

<=6 r=7 48.8695 22.0400 19.8600

r<=7 r1=8 19.4793 15.8700 13.8100

<=8 r=9 9.0147 9.1600 7.5300

e ok ok ok ok ok o ok sk 3k ok ok ok ok oK ok sk ok ok ke ok 3k oK ok ok sk sk ok ok ok ok sk ok ok sk ok e ok ok 3 ok oK Sk ok ok 0 3Ok % ke S o 3k 3K ok ok ok ok 5% sk 3K oK b 3k 8 ok oK 3 e sk ok oK ok ok

Use the above table to determine r (the number of cointegrating vectors).
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1914 93 N1IAUIAN Cointegrating Vectors 1081y Trace Test

Cointegration with restricted intercepts and no trends in the VAR
Cointegration LR Test Based on Trace of the Stochastic Matrix

3 ok sk sde ok s sk Sk ok ok 3 ke ok ok sk 3 ok ok ok 3 s ok sk ok ok ok ok sk e sk ik ke ok ok ok ok sk sk sk ke sk ok ok ok ok vk ok sk sk sk ok ok e sk ok ok Bk S ok ok sk 35 s sk ke ok oK ok ok oK ok ok ik ok ok ok ok 3k

64 observations from 7 to 70. Order of VAR = 6.

List of variables included in the cointegrating vector:

X1 X2 X3 X4 X5

X6 X7 X8 X9 Intercept

List of eigenvalues in descending order:

98518 97922 96603 81619 67878 .55600 .53401

26241 13138

3K ok o ot ok oK ok s ook sk ok sk o ok o ok ok ok sk sk ok sk ok sk b o ok ke ok ok ok sl sk KRS o o 3K R ok Ak ok oK ok sk ok ok ok ok ok sk ok Sk s ok ok ok 3k o ok s ok 3 ok ok ok sk ok ok ok sk ok Ok

Null Alternative Statistic  95% Critical Value 90% Critical Value

r=0 r>=1 1044.3 203.9600 197.6600
r<=1 r>=2 7747898 166.1200 160.3000
r<=2 r=>=3 526.8760 132.4500 127.2400
r<=3 r>=4 3104157 . 102.5600 97.8700
r<=4 r>=5  202.0079 75.9800 71.8100
<=5 r>=6 129.3268 53.4800 49.9500
<=6 r>=7 77.3635 34.8700 31.9300
<=7 r>=8§ 28,4940 20.1800 17.8800
<=8 r=9 9.0147 9.1600 7.5300

e o s o sk 2k ok ok o sk sk ke sk ok ok ok 3 ok ok ok ok ke ke ok Sk ok ok s ok ok ok ok sk ok Sk ok sk sk sk sk s ok ok sk e ok ok ok ok oK oK 3K ok ok ok ek 3k ok sk ok 3k ok ok ok 3K K oK ok e ok ok sk ok ok

Use the above table to determine r (the number of cointegrating vectors).
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